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[ m& =& |x[ #ewg |=[ codmz | wm e mm | x| sawm |=[ conzE | wm e @l |x[ sgowrm |=[ conzg | [ &me #m | x| sorm |=[ copsg |
kWh 0. 692 = kg kWh = x 0. 692 = ke kWh = x 0. 692 = kg kWh = x 0. 692 = ke
m? 6. 55 = kg m? X 6. 55 = kg m2 X 6. 55 = kg m? x 6. 55 = kg
m3 1.16 = kg md X 1.16 = kg m3 X 1.16 = kg md X 1.16 = kg
L 2. 49 = kg L x 2. 49 = kg L x 2. 49 = kg L % 2. 49 = kg
L 2.32 = kg L X 2.32 = kg L X 2.32 = kg L X 2.32 = kg
1AAOCO2(—EiLxF) HEHE | = kg 1HADCO2(ZELxFR)HEE | = kg 1HADCO2(ZBitRF)HHE | = kg 1HADCO2(ZBMILRFR)HHEE | = ke
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[[Er& =m |x|[ soes | =] ] ® e | x| memm | =[ commz | % A m m | x| samm |=[ comer | [ =@ m  mw | x[ #amm | =[ commm |
kWh 0. 692 = kg kWh X 0. 692 = kg kWh X 0. 692 = kg kWh x 0. 692 S kg
m2 6. 55 = kg mé X 6. 55 = kg mé - x 6. 55 = ke mé o x 6. 55 = ke
m?3 1.16 = ke mé X 1.16 = kg m® X 1.16 = kg mé X 1.16 = kg
L 2. 49 = kg L x 2.49 = kg L x 2. 49 = kg L % 2. 49 = kg
L 2. 32 = kg L x 2. 32 = kg L x 2. 32 = kg L x 2. 32 = kg
1HADCO2(ZBILIRF)HLEE | = ke 1HADCO2(ZBILRF)HLEE | = ke 1HADCO2(ZBMILRR)HHE | = ke 1HADCO2(ZEILRF)HHE | = ke
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[[Ere =m |x[ smes | =] | wma s | x| smgm | =[ contg | wm e @#m | x| gmgm |=[ contz | [ wmae @m | x| swem | =[] conns |
kWh 0. 692 = kg kWh X 0. 692 = kg kWh X 0. 692 = ke kWh X 0. 692 = kg
m3 6. 55 = kg md X 6. 55 = kg md X 6. 55 = kg md X 6. 55 = kg
md 1.16 = kg m® X 1.16 = kg m® X 1.16 = kg m® X 1.16 = kg
L 2. 49 = kg L x 2.49 = kg L x 2. 49 = kg L x 2. 49 = kg
L 2.32 = kg L x 2.32 = kg L x 2.32 = kg L % 2.32 = kg
1HADCO2(ZBILRR)HLEE | = ke 1hADCO2(ZEbikR)HLEE | = ke 1HADCO2(ZBitRR)HEE | = ke 1HADCO2(ZBILRR)HEE | = ke




